
 

SKU 25 Peugeot 308 Fitting Instructions  

  
Tools you will need:  

• Stanley Knife (Optional)  

• Allen Key Set 

• 13mm - 17mm Sockets or Spanners 

• Tape Measure  

• Marker Pen  

In your fitting kit you will have:  

• M8 x 15 Buttonhead Bolt (2) 

• M8 x 45 Caphead Bolt (2) 

• M10 x 20 Hex Head Bolt (2) 

• M10 Hex Flanged Nut (2) 

• M8 Hex Flanged Nut (2) 

 

1. Remove all carpet from the boot space and the rear seats. 

2. The lower mounting points of the K-Brace utilise pre-existing holes in the 

vehicle. The M10 x 20 Hex Head Bolts and M10 Hex Flanged Nuts are used 

here to bolt the K-Brace into position.  

3. Once the lower section of the K-Brace is bolted in, locate the upper 

mounting points. The upper mounting points of the K-Brace also utilise 

pre-existing holes in the vehicle.  

Use the M8 x 15 Buttonhead Bolts and M8 Hex Flanged Nuts to fasten the 

brackets into place. The K-Brace can then rest in place.  

4. Now that the K-Brace is in position and brackets have been fitted, 

measure and cut the areas of carpet and trim that need to be removed.    



5. Install the carpet, trim and seats ensuring your points of installation are 

adequately exposed.  

6. Finally, refit the K-Brace.   

  

  

Any questions or additional information about the installation of your K-Brace 

please do not hesitate to contact us through our website.  

Thanks, from everyone here at BAF Motorsport. 


